

Republic of the Philippines CITY GOVERNMENT OF MUNTINLUPA Bids and Awards Committee

NOTICE TO PROCEED

VINNO VENTURES SOLUTION OPC

Muntinlupa City

Dear Sir / Madame:

The attached Contract Agreement having been approved, notice is hereby given **VINNO VENTURES SOLUTION OPC** that the CONTRACT of the City Government of Muntinlupa for the **"Supply & Delivery of Sound System & Accessories to be used by Mayor's Office"**, shall commence effective FIVE (5) DAYS after acknowledging receipt hereof.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and Schedule of Delivery.

Please acknowledge receipt and acceptance of this notice by signing both copies on the space provided below. Kindly keep one (1) copy and return the other copy to the Bids and Awards Committee Secretariat.

Very truly yours,

Hon. ROZZANO RUFINO B. BIAZON

Name of the Bidder or Representative han vum

Authorized signature _

City Government of Muntinlupa, 2nd Floor, Main Building, National Road, Barangay Putatan, Muntinlupa City



THIS AGREEMENT made the AUG day of 20 between CITY GOVERNMENT OF MUNTINLUPA of the Philippines (hereinafter called "the Entity") of the one part and VINNO VENTURES SOLUTION OPC with address at Parañaque City (hereinafter called "the Supplier") of the other part;

WHEREAS, the Entity invited Bids for certain goods and ancillary services, particularly for the Supply & Delivery of Sound System & Accessories to be used by Mayor's Office and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of Four Million Twenty Two Thousand Four Hundred Forty Four Pesos (P4,022,444.00) (hereinafter called "the Contract Price").

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, *viz.*:
 - i. Philippine Bidding Documents (PBDs);
 - i. Schedule of Requirements;
 - ii. Technical Specifications;
 - iii. General and Special Conditions of Contract; and
 - iv. Supplemental or Bid Bulletins, if any
 - ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (*e.g.*, Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

- 3. In consideration for the sum of Four Million Twenty Tiwo Thousand Four Hundred Forty Four Pesos (P4,022,444.00) or such other sums as may be ascertained, VINNO VENTURES SOLUTION OPC agrees to the Supply & Delivery of Sound System & Accessories to be used by Mayor's Office in accordance with his/her/its Bid.
- 4. The City Government of Muntinlupa agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

Hon. ROZZÁNO RUFINO B. BIAZON	mon lugm
City Mayor	Supplier
for: CITY GOVERNMENT OF MUNTINLUPA	VINNO VENTURES SOLUTION OPC
Signed in	Belinda Black Macagea
ACI	CNOWLEDGEMENT
REPUBLIC OF THE PHILIPPINES) CITY OF MUNTINLUPA) BEFORE ME, a Notary Public for and personally appeared:	in Muntinlupa City, this day of 2023
NAME	GOVERNMENT ISSUED ID NO.
Hon. ROZZANO RUFINO B. BIAZON Maric Vincont Anthony Viller	Driver's License N03-86-030998 Not -03-062951

Known to me and to me known to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their own voluntary act and deed.

WITNESS MY HAND SEAL.

Doc. No. 4/10. Page No. 2/2; Book No. 7/2; Series of 2023. MEYNARI R. JOB

Notary Public for Puntinlupa City Notarial Commission No. 23-009 Until December 31, 2024

PTR No. 4347537 / Jan. 03. 20.3 / Muntinlupa City IBP Lifetime O.R. No. 1010271 / Jan. 04, 2016 Roll No. 49785 / PPLM

MCLE Compliance No. VII-0016417 / April 26, 2022 3731-C Bruger Street, Bruger Subdivision, Putsten, Muntinhapa City







Last Name, First Name, Middle Name
VILAR, MARC VINCENT ANTHONY BLANQUERA

| Nationally | Sex | Date of Birth | Weight (kg) | Height(m) | PHL | M | 1985/04/29 | 83 | 1.65

Address U 2C:81 L2 MARIANO ST MOONWALK PARANAQUE CITY
License No. Expiration Date Agency Code, NO1-03-002951. 2033/04/29 N38
Blood Type Eyea Color BLACK

ATTY JOSE ARTURO M.TUGADE Assistant Secretary

4 3

republic of the philippines DEPARTMENT OF TRANSPORTATION LAND TRANSPORTATION OFFICE



MON-PROFESSIONAL DRIVER'S LICENSE



BIAZON, ROZZANO RUFINO BUNDAN traticorate Sex Une-cellett Weight pel Ungenimi PHL M 1969:03/20 103 177

a to tabl st ayala alabang vilíage, ISSTRIBLUFA CITY

102-03-03098 2023/03/20 1140

Cynnthys RROWN

EDGAN C'ANVANTÉ Assistant SECRETATI

057291296

IV, IN CASE OF EMERGEICT NOTIFY, MARGONARGHEI, MART II, MACHI MUCRESS, SAKE ADORFS TEL 1101, LP (27128) (19

Am Africh. fr.
Am Africh. fr.

PURCHASE ORDER

City Government of Muntinlupa

Supplier •	olier: VINNO VENTURES SOLUTIONS CORP.			P.O. No.: 030325					
	Parañaqı		Date :			August 23, 2023			
Address .	·					rement:F	Public Bidding		
Gentlemen: Please furnish and/or deliver to this office the following articles subject to the terms and conditions contained herein:									
Place of delivery:					Delivery Term :				
					Payment Term	:			
Item No.	Quantity	Unit		Description		Unit Cost	Amount		
1	1	pair	Active Line Array System 700W/LINE ARRAY KEVLER 18" Sub Woofer 900W complete w/ accessories			487,000.00	487,000.00		
2	4	units		ay powered loud Speake		70,300.00	281,200.00		
3	2	units	' * * · · · · · · · · · · · · · · · · ·			81,850.00	163,700.00		
4	6	units	1400 watts peak power, 3" Compression driver, 15" woofer 2-way 132dB SPL, Italy or similar/RFC				598,200.00		
5	2	units	LD Road Jack 10 Ba Loudspeaker w/ Mi	LD Road Jack 10 Battery Powered Portable 27,820 Loudspeaker w/ Mixer/ LD			55,640.00		
6	4	units	Dual 15" Passive 2- 1400 watts/PRX	Dual 15" Passive 2-way Bass Reflex Speaker 26,770			107,080.00		
. 7 8	2 2	units units		00 Watts/ KONZERT Audio Mixer w/ USB/BT/	KONZERT	42,520.00 6,717.00	85,040.00		
9	2	units		ixer with USB/Bluetooth		11,545.00	13,434.00 23,090.00		
10	2	units		lixer with USB/Bluetoot		40,945.00	81,890.00		
11	2	units		and Equalizer/KONZERT	•	31,285.00	62,570.00		
12	2	units		hannel Expander,/KONZ	ERT	10,390.00	20,780.00		
			Compressor gate, P	Compressor gate, Peak Limiter w/ Dynamic Enhancer					
13	4	units		ireless MIC 2.4 Ghz/KOI		49,660.00	198,640.00		
14	8	units	Dual Wireless MicKONZERT			9,970.00	79,760.00		
15	1	set		Conference Microphone (8 goosenecks)/KEVLER			90,085.00		
16	2	units	Cardioid Instrument Condenser Mic/KEVLER			90,085.00 15,010.00	30,020.00		
17	2	units	Wireless Podium Gooseneck Mic w/ Receiver/KEVLER			12,910.00	25,820.00		
18	2	units	Lavalier Wireless Sy	•		20,980.00	41,960.00		
19	1	set		/ Drum Kit/LD SYSTEMS		29,710.00	29,710.00		
20	1	set	Drum Microphone Pack, Combination of Condenser & 16,270.00 Dynamic Mics for Acoustic Drums, 7 mics included Unidirectional Polar Responses, Neodymium magnets Dent-resistant Steel Griller, Gold Plated XLR Connectors/KONZERT			16,270.00			
21	2	units	Direct Box, Battery/ Phantom Powered/KONZERT 8,920.00 page 1 of 3			17,840.00			
Total A	mounts in Wo	ords:							
In case of failing to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one for every day of delay shall be imposed Confrome: VINNO VENTURES SOLUTIONS CORP. Signature over printed name Signature over printed name Signature over printed name Date									
(In cas	e of Negotiate	ed Purchase	pursuant to	Requesting Office/Dept.	Funds Ava	ailable:			
(In case of Negotiated Purchase pursuant to Section 369 (a) of RA7160 this portion must be accomplished)				Aı	Amount:				
Approved to be purchased thru Negotiated Purchas per Sangguniang Res. No.:				R.C	O. No.:	<u></u>			
Certified Correct: Secretary of the Sanggunian Authority				Authorized Official		Chief Account			

8/30/27

PURCHASE ORDER City Government of Muntinlupa 030325 Supplier: VINNO VENTURES SOLUTIONS CORP. P.O. No.: Address: Parañaque Date - August 23, 2023 -Mode of Procurement : Public Bidding Gentlemen: Please furnish and/or deliver to this office the following articles subject to the terms and conditions confained/herein: Place of delivery: Delivery Term : _____ Date of delivery: Payment Term : _____ Item No. Quantity Ilmit Description Unit Cost Amount 22 Laptop, 15.60 inch display, AMD Ryzen 5000 series/ASUS 2 units 72,400,00 144,800.00 RAM 16GB. RAM slots, SSD512GB Storage, WIFI connectivity 23 1 unit EB-1781W Ultra Mobile Video Projector/ACER 60,780.00 60,780.00 EB- U42 WUXGA 3LCD Wireles Projector/ACER 24 1 unit 41,145.00 41,145.00 25 1 unit EB-980W, 3 LCD, Bright WXGA Projector/ACER 61,200.00 61,200.00 26 1 unit Multi Camera Video Mixer/Switcher/KONZERT 27,285.00 27,285.00 27 2 units HDMI Switcher/KONZERT 4,720.00 9,440.00 28 2 units HDMI Splitter/KONZERT 4,160.00 8,320.00 29 2 units Wide Angle Webcam/KONZERT 5,235.00 10,470.00 30 2 units Pro Presentation Remote Controller/KONZERT 2,890.00 5,780.00 31 2 units USB 4-Port Hub/KONZERT 1,965.00 3,930.00 HDMI Cable 3M/KONZERT 32 6 rolls 520.00 3.120.00 33 4 rolls HDMI Cable 15M/KONZERT 1.890.00 7,560.00 34 4 rolls HDMI Cable 20M/KONZERT 2,300.00 9,200.00 35 2 units Audio Interface/KONZERT 3,670.00 7,340.00 36 Audio Interface 3rd Gen/KONZERT unit 7,870.00 7,870.00 37 1 Intercom Set- One Channel wired Intercom sys/KONZERT set 62,780.00 62,780.00 C\$101 Main Station, 2 BP101 Beltpacks, 3 HMD-685a single sided intercom headsets 38 6 2 conductor+shield Microphone Cable 100mtrs/ROAD JAC rolls 5,240.00 31.440.00 39 60 pairs XLR Male/Female/LD SYSTEMS 600.00 36,000.00 40 20 sets PL Jack Mono/Stereo/ baby 3.5mm/LD SYSTEMS 410.00 8,200.00 Royal Cord #14/ 75 mtrs/roll/LD SYSTEMS 5 41 rolls 41,500.00 8,300.00 42 30 sets 3-Gang Outlet and Plug/LD SYSTEMS 830.00 24,900.00 2-core Speaker Cable #14 100 mtrs/ROAD JACK10 43 1 roll 8,300.00 8,300.00 44 20 DCS IEC Power Cord C13 (2mtrs)/ROAD JACK10 240.00 4,800.00 45 4 units Uhiversal Outlet Extension Power Strip/ROAD JACK10 1,400.00 5,600.00 46 6 Cargo Strap Hook Tie Down 50mm/ROAD JACK10 pcs 520.00 3,120.00 47 6 DCS Speaker Stand/ROAD JACK10 3,145.00 18,870.00 Speaker Stand w/ Crank/ARRAY SPEAKER PRO AUDIO SYSTI White Screen 72" w/ stand, indoor/outdoor 48 4 pcs 8,920.00 35,680.00 49 3 DCS 5,770.00 17,310.00 50 1 unit External HD 1TB 5,200.00 5,200.00 51 4 units USB 8GB 415.00 1,660.00 17B USB 3.0 Flash Drive (Speed Up to 150MB/s page 2 of 3 Total Amounts in Words: In case of failing to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be impos Confrome: VINNO VENTURES SOLUTIONS CORP. Mayor ROZZANO RUFINO B. BIAZON Very Trul xou Signature over printed name Authorized Official 13 2023 (In case of Negotiated Purchase pursuant to Funds Available: Requesting Office/Dept. Section 369 (a) of RA7160 this portion must Amount: be accomplished) Approved to be purchased thru Negofiated R.O. No.: Purchas per Sangguniang Res. No.: Certified Correct: Secretary of the Sanggunian Authorized Official Chief Account

PURCHASE, ORDER City Government of Muntinlupa

Supplier	: VINNO	VENTUI	RES SOLUTIONS	CORP.	P.O. No.;	030325	The desired the grown page resigning of the set of the	
Address : Parañaque				_ Date	August	23, 2023		
					Mode of I	Procurement : Pr	ublic Bidding	
Gentleme				The state of the s			en ermakullikus kurukuskal dan gari di yili sind dan hir b	
Gennemer		nish and/or	deliver to this office th	e following articles subject	to the terms	and conditions co	ntained herein:	
					Delivery 1	erm :		
Date	of delivery	:			Payment T	erm:		
ltem No.	Quantity	Unit		Description		Unit Cost	Amount	
52	3	units	DJ Headphones/SOI	NY		4,720.00	14,160.00	
53	1	unit	Voltmeter			1,570.00	1,570.00	
54	2	units	Pushcart, Flatbed			7,870.00	15,740.00	
			1000KG Capacity St	rong Thick Stainless Stee	1		, , , , , , , , , , , , , , , , , , , ,	
				dable Trolley platform ha	ind truck			
			trolley Heavy Duty 4		İ			
55	2	units	Foldable Tent 3X4.5			5,350.00	10,700.00	
56	3	units	Metal Storage Shelv	ves, heavy duty 5 layer sł	nelves, 250	kg 6,200.00	18,600.00	
i	:		load bearing boitles	s,slotted,shelving units 1	100*40*18	Ocm		
57	1	roll	Black Clothe			1,035.00	1,035.00	
58	1	units	86" 4K UHD Smart 7	TV/SAMSUNG		214,000.00	214,000.00	
59	1	units	BluDento BLT-HD, T	rue Hi-Fi HD Bluetooth/E	BLU	12,900.00	12,900.00	
			5.0 Music Receiver					
60	1	unit	Wireless HDMI Vide		ļ	9,800.00	9,800.00	
		•-	ARRAY SPEAKER AUD					
61	2.	units		peaker 150W 5.25" Ultra	compact	21,400.00	42,800.00	
			dimensions :8.66X1 /ARRAY SPEAKER AUD					
62	6	units	100W Class D Powe		l	19,100.00	114 600 00	
02		uiiits	/ARRAY SPEAKER AUD		ĺ	19,100.00	114,600.00	
63			*		İ			
63	1	unit	USB 2.0 Audio Inter		-	9,280.00	9,280.00	
64	1 1	unit	VGA/Audio to:HDM	Converter	1	3,410.00	3,410.00	
65		unit	Wall Bracket Rubber Ramp/ROAL	D IACK 10	1	5,450.00	5,450.00	
66	10	pcs			w/Plack)	3,270.00	32,700.00	
			1M Cable Ramp/Protector 2 Channels (Yellow/Black) 1000 x 25 x 50mm/ROAD JACK 10					
67	4	sets	XM1800S Dyamic N			5,450.00	21 800 00	
68]		· ·				21,800.00	
	12	pcs	4	nkable with Loop/BIG DI	FFER	4,720.00	56,640.00	
69	2	pcs	Focus DMX512/BIG DIFFER			2,620.00	5,240.00	
70 71	4 4	pcs	Focus 3W54 Amber/BIG DIFFER 5,860.00 23,440.0					
72	1	pcs set	RBG LED Bar Light, DMX Controlled/DMX 10,900.00 43,600.00 Hard Cases for Mixer, Speakers, Mic 141,650.00 141,650.00					
7-	-	361		xxxxxxxxxxxxxxxxxxxxxxx xxxxxxxxxxxxxx	vvvaaavvl	1	141,650.00	
				of Sound System & Acces			4,022,444.00	
77		·	And the second for the	APP				
Iotal Amo	ounts in Wor	ds:	page_3	Jayor's Office 3-of-3				
					I .			
for every	n case of fai day of delay	ing to make	the full delivery within	n the time specified above,	a penalty o	one-tenth (1/10) of	one percent	
tor every t	uay oi delay	shan be im	posed		A		•	
G 0		mark	Telesa		Very Truki	yolfisil il		
Controlle	∷ —∨іиио	VENTURÉ	S SOLUTIONS CORP.	_	Mayor #0	ZZANO RUFINO	B. BIAZON	
	Si	gnature ove	r printed name		7	Authorized Offic	ial	
		THOR	12,2027					
	_	— / -/ D:	13,2023		1			
							and the state of the same of the state of th	
(In case o	f Negotiated	Purchase p	ursuant to	Requesting Office/Dept.	Funds As	zailable ·	1	
Section 369 (a) of RA7160 this portion i			ortion must	ion must		vailable : Amount:		
be accomplished)								
Approved	to be purch	aced then 31.	agatintad	•		.O. No.:		
Purchas o	er Sanoonet Ferroonskra	ana Dee 21-	egonated					
, menus h	տ ժառցջայլ	ang Acs, NC	···		ľ		ŀ	
Certified Correct:								
	Se	cretary of th	ne Sanggunian	Authorized Official	-	Chief Account		
			0			Ciner Account		
								